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= A(x* 4 3x - 10)
=A(x+5)(x-2)
=x-2)(x+5)(x-2)
= (x-2)*(x +5)




3. x?-9%+4x+ 12y & A5ENSHH (Ax+ By) (Cx+ Dy+4) 7t
Hoha ek A+ B+ C + D 9] 3& Fatofet

> E.

> ®™eh: 2

(A1) = (x=3y) (x+3y) + 4 (x+3y)
=(x+3y)(x—3y+4)
LA4+B4+C+D=1+3+1-3=2
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X +y2-4-2xy 9

@x—y—Q

@ x-y+4

A7t o Qe A2
@ x-y-4 ® x+y-2
® x+y+2
P4y -d-2xy = (x-y)?>-2°

=(x-y+2)(x-y-2)




x+y=4,xy=2% M, (3x+y)? - (x+3y)? & =S Fotoi=t. (H,
x>y)

» E:
> ®e: 642

B

(x=y)?=(x+y)?-4xy=38

Lx—y=2V2(x>y)

(3x +¥)2 — (x + 3y)? = (2x - 2y)(4x + 4y)
=8(x +y)(x-)
=8x4x2V2
=642




6. x+y=15x2-y2+5x—5y =120 o, x—y o] g oo},

> E:

> Hehl 6

(x=y)(x+y+5) =120
T x—y=6
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8. a+b=2,a>-b*=10 & W, a—b 9 g Ftoieh

a’>-b?>=(a+b)la-b)=2x(a-b)=10
“a-b=5




9. a+b=2,ab=-8L W a®b+ a®b+ ab?® + ab® °] & Fotol=t.

> E.

> ®eh: -176

a’b + a?b + ab?® + ab®
:ab(a2+a+b+b2)

=ab {(a+b)* - 2ab + a + b}
=(-8)x{2-2x(-8) +2}
=(-8)x(4+16+2)
=-176




10.

o+2 194 oABEF 2} oFHGD 7} Ak
219 2 ufj, A}ZH HECG ol yolEa, bl
et Ao g2 YehdH & QlpEalistH (a -
b)(ta+ sb) °Itt. 1+ s &] & T2

UU/’—Q‘“

>
O EHE r+s5=1

_-a--

A2+ ABFE, EGHD = AAMzZtgo|ng
HE=b-(a-b)=2b-a,EC=a-b

"2 A 9] "ol (26 - a)(a—b) °lH.
webA r= -1, s=20|E& 45 =1 °Jc}.




